AWNING & CASEMENT BUTT HINGE
ANCHOR SCREW INSTALLATION

Part Number Description Application
312428A Screw - #9 x 3/4” Quad (FLT SS)

} Temporary screw to be replaced in the field
312450A Screw - #9 x 3/4” Quad (FLT BK)
296940A Screw - #8 x 2” Quad (FLT SS)

} Field-installed anchor screw for each hinge.
70113A Screw - #8 x 2” Quad (FLT BK)

Anchor Screw Installation Procedure
1. Remove temporary #9 x 3/4” screw (as noted above) from top hole of each hinge on the jamb.

2. Install one #8 x 2” anchor screw (as noted above) into each hinge with either a #2 Phillips or
a #2 Robertson screw driver bit

v 5
M o [0 o
W\ 1 g
Frame

“ O/
@
Q

A %{
(C




